FJSHS-Algebra 2                                       MODULE 1 TEST (Sec 1→ 6 only)	Name: ____________________

1. Given the function z(x) = x3  - 3x2  + x – 3 shown on the graph in Figure 1:
a. Explain why z(x) is a function.Figure 1



b. In interval format, write the function z(x)’s: 
c. Domain

d. Range


e. Relative maximum(s)


f. Relative minimum(s)


g. The inflection point(s) of z(x) [look this up if necessary)



h. End condition as x → - ∞



i. End condition as x → + ∞



j. y axis intercept


k. x axis intercept




2. [image: A graph of a function

AI-generated content may be incorrect.][image: A graph of a function

AI-generated content may be incorrect.]Indicate whether each of the following x-values is a relative maximum, relative minimum, or neither. 



3. [image: A screenshot of a math test

AI-generated content may be incorrect.]Answer the multiple-choice question to the right AND accurately sketch the score equation onto figure 2 with the acceptable score area shaded in. Adjust axes numbering as necessary.

 Label your graph completely and correctly!
Figure 2







4. Given the system of inequalities:  	  3 x + 4 y > 10
12 + 6 X > - 2 y     
          SKETCH THE INEQUALITIES AND SHADE IN THE SIMULTANEOUS SOLUTION AREA in Figure 3.
                                                                                                                       Figure 3
[image: Four Quadrant 1 Per Page Graph Paper]













5. Solve and sketch the solution for the following absolute value equality:  







6. Solve and sketch the solution for the following absolute value inequality:In math and logic, the symbol for:  a conjunction is ∧ (read as "and"), representing a statement that is true only if both parts are true. When in proper form, this occurs when |X| < P [Conjunction: where the solutions “OVERLAP,” if any overlap exists.]
A disjunction is ∨ (read as "or"), representing a statement that is true if at least one of the parts is true (inclusive). WHEN In proper form, this occurs when |X| > P. [Disjunction: the “UNION” of the solutions.]















7. Solve and sketch the solution for the following absolute value inequality:











	

Algebra 2 Mod 1 Exam 9-18-25		Page 1 of 1
image4.png
MULTIPLE CHOICE A guidance counselor tells
Rebekah that she needs a combined score of
at least 1210 on the two portions of her
college entrance exam to be eligible for the
college of her choice. Suppose x represents
Rebekah’s score on the verbal portion and y
represents her score on the math portion.
Choose the equation or inequality that
represents the scores Rebekah needs for
eligibility. (Lesson 1-5)

@) x+y=1210
® x+y=1210
©x+y>1210

@ x+y=<1210
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TABLE ITEM Indicate whether each of the
following x-values is a relative maximum,
relative minimum or neither. (Lesson 1-3)





